BUUTL WSS HMLISH6E0T (LPEVLD

o FHIT DHNQUe1TeN  QFBITn LOLISS Bl6oT

o FalbLileor

o Gz mong et

Gopuytifiler ugiuerey upml eilensssmall CUDMISCETaTOTfSH6N.

&6 asmewiluGL Hewiomiseilar eufll ULBISMOT UTTHB. B
FHewiomisenenis LnM BEIG6T gnoaGau asmmieTeiyaeT. Seumplet Gopuyiiies
uglueneneuds sSTamid alHHms HlenaagnjBourw. @miE Seumnle
Gupurliysseier augeamiseT CoumubsHd euenruiliLL (Hememe.

(i) (ii)

/ «—4i—>

BHsMmBMW 6

GumuyLiLdeaset
2_eiTemen.

FHewiogHest GopULisEeT @elbsuTemis LFLLeTeneULd SHelhsHailumad
&mI(h SIGHemingHar Qrss Gumuriier uFlueTameals HTemIs.
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4.1 gy Sigueren OQFmEIGnwUSSIe Guourilear wuFLueTey

2 _(HeleL FHIJ lgenul 2 LUl QFBIFLDLIGLD
asTeuilu(bEnH. BEIG gmwd SHaly 4
Cupurliysser o eiener. @LOGLMHUITLILGSET
(L& BT 6wl B 6T (G LD.

QFEIFIDUBSHHIT 2 _FF iHar lguiet BhHLYeTeNSE BmendGsHsTe GBev
AmEHGD. D50 2 FAUleL FhAHH@GHID 616060T MGMDLBEHLD FLD [HEV(LPETETENEL.
Cun@Mss nibusshdHer Gomurliyssamend ateummm CeaumiubGsd auamyhal
&SITLL60MLD.

>

1 Gumuliy Il
T 4 Gw%)uuu
M b |
! < a >
< a >
2 (p1 2 (mH 2

2 (H 2 ;i GuITETm HTETIE (LPSEIBET 2_6ienesl. HILLIL(HeTen SieNai(HaEEhEEHML
@eupMlent Gomuyliysbseiiest UFLLETEN6UL LT6STEUHLOTN] H6vTdbEH60VMLD.

gnlblilest Siguilsst UFLiLIeT6) = axa
= a2
a
1 a
QR (PHCHTE (PHHHT UFLIL6TE] = 5 Xax h
1
4 p&ECamemt (PpamIGT6T LFLILI6T6Y = 54X hx 4
= 2ah
Qorggs Gmurllet uFlLUeTe] = a*+2ah=a(a + 2h)
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2 _gryewid 1

FHIT SlguleTen @h CFmIFwIOUSLD 2 [Heled HTILLBEGIMG. DB Biguilest
alefbllest MHemd 12 cm oL@&. gemenwt elefibysel @ealGeuresimid 10 cm
LG, BHFnIDUBSHST LUFLLIGTEN6USH HT6NIH.

E

AEBC @e1 Gopugliensneais STeniLshE@ ST GHHHULTSHMSS STewiGLITLD.

mUSBTSer OHTLFINCHML,

h*+6> =10°
h? = 10%- 6*
= (10-6)(10+6)
h? =4 x16
h — /4x16
h =2x4
=8cm
1
(&HCamem (WHHHe LITLILIeT6Y =5 X 12cm x 8 cm
=48 cm?
4 (p&Cxamewt (pamIseaTet uFlueTe=48 X 4
=192 cm?
Siguiest Gmuylife uFliLeTey =12 x 12 cm?
=144 cm?
. FalbussHer Gumuyiinier ugluerey = 192 cm? + 144 cm?
=336 cm?

2 FHTyewid 2

FHIT SlQUIeTeN Q(H FnlbUBLD QeI QFBIGSHSH 2 WFD 9 cm SYEGLD.
IGHT QWIS @ USBHHET BeMd 24 cm SLGD. ST Gomuyiidest
UTLLIETeN6UdHS SHT6u01H.
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AN A

24 cm 12 Cm 24 cm
X =97+ 122 (musaydar OaTL T mbS)
X =81 + 144
X =225
X =15cm
W&CHTEwT (LPBHHST LTLILIENT6] _ 1 X 24cm X 15 cm
2
=180 cm?
4 p&Cxmemt (pBMIGBTIT LITLILI6N6] =180 cm?’x 4
=720 cm?
Slguilest UFLILeTe] =24cm x 24cm
=576 cm?
Qrggs Gumurinier ugliuere =576 cm? + 720 cm?
=1296 cm?

2 _Fryewid 3

FHT Slgmwd OCaTeRIL @ dnlbussHer (WoHCsment  (Wamiseier
Gumuyliyssefler ugliueney 240 cm? . SiHeat Siguilest @ UGBS Hembd 12 cm
ol (pHBBTemT (PBHHBT QFRIGHHH 2 WTHMBH HT6U0IH.

o WwsGstemsdar ugliueney = 240 x 1 cm?

A 4
| = 60 cm?
' 1
: QR (WPHCH:TGHHST LUFLiLene] = 5 X 12 x x
|

X
l
! 1
| — X 12 x x=60

B C 2
12 cm =10

x=10cm
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ulpd 4.1

1. Odeeumeuett @ CFEIFnIDLBSHET 6UMELITGLD. FnlbLbSHHe GLopuiriiies
UTLILETEn6US SIS, LUdd Hemd 2cm elenidh Q&mers.
\/5:1,732 Ml LWeTUBSHSHIH.

2. @ UsBsWD 12 cm e FHT SguiseTen @ CFEIFIOUBLD 2 ([Haled
sTelU(BIGIDG. AHST QFEIGSHH 2 wrw 8 cm eailer, OLTHs
Gupurlidesr ugliueTeneUsh HT6NIH.

3.  oguiler uss mHend 6cm 2 b alefibler BHerd Scm 2 b 2 enLw
FHITS Gmbusd @il Sl HAfHSH WHMHDU LS BME G6i 6o
UFLILIET6) & 6061  HIT63015.

4. FzIr smueien @ Gemigmbussdear Cuomuyinier ugliuere) 145 cm?
LG, (PHCHTeW (WHHHe OFBIGHHH 2 Wy 12 cm SpGWw. DHgullest
USBHHET HMHmBUD FTUINNONDLINT HEMTHMBUID HT6WIH.

5. gzir omueten @ QFmignbussHer Gomurinilet uyliueme] 340 cm?
SLGW. Sguilet @ ubsHHer  Hemd 10 cm oy @Lb.
(1) aBamem (WPaiHHa1 QFRIGHHH 2 WTHMSHH HTEIS.
(1) (p&Cxamewt (PaHH FTUIalaTbUET HTHMBH HT6NIH.
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4.2 galilel euemenGuuylitlar wuyLiueTey

QFeuaul’ L Faldl 6IaUG Slguiest enwbHNEG BlmevdGHHsTes GoBev
2 58 BHBHGID HewILoLmGLD.

A

2 ®m 1 60 o eaten gmbenud gruwialefioy euflBw seuetons  Geullg
alfld@HwCurgdl 2 @ 2 @60 2 aleneurpmel pmIFFHenm Sl & @GL.
BeucurengFdlenmules oLy, dnlblillest FTu gD [ Dp@GLWw. euenenbd alembLilest
BeMD SLemy 7 8 2 emlw el L Sjguiest ufld 27Tr oy @L.

o
2 (H 3

2 (H 2

ABUTHI BeiaugealsHmnd SN SpmisenTes CaumLbsd 2 (H 3 6L 2_eieTeuTm
wml, ) QL BLeUTEH GFalais augaID SenL&ELD.

@5 QFelussHe ﬁsanz_thr&Lb DBV [ 2 1b SGLb.

. QFelousdhdlen Herbd =Tr
OF6LUBHHNT BIFH6EVLD =1

*. ugLiuene = 7rl

galblient euemenGomuyLiest UFLiLeT6) =7rl

ST MU FTyugw [ mub 2 emLw
@@ Falar euenenGmuyiniest uglueney A= T rl
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Fewiod gawller Guouyilder vgluene =
oL omguier ugiuetey + euemenuginier uglueney = W’ + T rl

= Tr(r+l)

2 _sryeud 4.
Fewi s amidy @aim 2 maled STaluBGSSTIDE. DB 6N e
HB6U0BEHHCHNL ST Coouriinier uFliLeTenels SHTewIS.

gnblilent euemen Gomuriidest ugliuene =T rl
= % X 14 %X 20 cm?

= 880 cm?
20 cm = 7nr euL Gumuylnie

\ ugLiLeey
\ 22

= 7)(14)(20 cm?

= 616 cm?
gablienr Qrds Gupugliueney = 880 cm? + 616 cm?
= 1496 cm?
2 _Sryeud 5.
o2 _maled @GMsslul(heTen HaaIHECHMU Fnldlie euenemGLomUTLILIeT
UTLILeTEn6UsS SHT6ISH.

Sguilest opemy = 7cm
FmTuyuwiyLd = 1
llcm l@&réj@g'@j 2wy = llcm
wl N\
—

Tcm

mussIFar CarmmeHmsall uwaiuGHHF OCFmIBGasmen (1paBGsmenflullet
QFDOUEHSHET HENTHMBDH HTEIT6V.
12 =11*+7°
=121+49
=170

/ = J170 cm  =13.03cm
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gnlbliles euemeniLyiflest LFliLeTey =nrl
= % X 7 X 170 cm?2

22 /170 cm?

22 % 13.03 cm?
= 286.66 cm?

2 _Sryewid 6.
Heviiod Fnlblesr el LgHer ufld 66 cm o 1b FTywgd 16 cm erefllesl, iGHest
Gupuriiler uglueTemeud HTERIS.
[ =16 cm
r= 2
a6l DiguilelT SpETEnUIS BHTeuTUITLD.

ol LgHer ufldl =2mr
, =66 cm

2Wwr =66cm

22
2% — xr = 66cm

6cm 7
66Xx7
r = cm

T 22x2

gablilest Gomuyliiest uyliLeTey = nrl+mnr’
= nr(l+r)

= % x10.5 x (16 +10.5) cm?

22
= 5 X 10.5 x 26.5 cm?

= 874.5 cm?
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2 _gryeu 7.

(PGSBS bl augaleTen @ QaTUlmws CFwlnusnE o 5CmFHHIeTenTe.
IBNGHS Comemeuwiren &L BTl ugliuene] 440 cm’e_1b Oaminiulest Fmujuirid
20 cm 2 1b ou@w. OasTuuler snguie &mmerey wmg)?

euemenuriiest UFLiL6T6y = nrl
= 440 cm?
nrl = 440 cm?

% X rx20=440cm?

440x7
= cm
22x20

r =7cm

OaTuiuler Siguist &mmerey = 2nr

2><7><7cm

44 cm

\:
I

@ FFMIDLBMET @QMEWISHH DMIDSHSBLILL L

20em 7 QurmeT @aim 2 heled sTaulUBGSIDSI.
Gumpuriiler uglueTeeaus HTERIS.
r="7cm
uipd 4.2
1. oueten @ Fblle oLy 7 cmM QpSa|D, FTWWIL 12 Cm Sy
Sopuler, oipar GuOuIliaT uFlueTeneas SHITewIs.
2. Qgmgalby eugeau(LpeTen LoD G660 Qeinel Ul L Siguilet SiLenyenl

gel smew  elBLUSSIDTS. DASHDGTW @ (wopamws sflelss.
DIFNBHE FTWWTSHMS 6TRISHID GUDeOTD? GHLLIUI6N sueneTLIFLILleneot
6TEUEUTN|  SITEUTEVITLD.

3. QFEIgIDY 6uge(PaTEN LoD Galwed @aimler ufld 528 cm 2 1b g6

gryugd 140 cm 2 1b g@w. @Galwelsr euswemurliies UFLLETEEUS
BTewIs. GeIWed Hmyulled elelsuene @LGHmdp L bHuleTeng)?
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4. sewiiadl FalOY eUQEUPET T @I dmLTIGHMmEHF OCauiausdp @
o 5B8zxfHaienenTer. Jeuet DiHeT CFRIGHHH 2 WL 2 M s RHHS
Gouswi(hOens Syworafsdprar. e Siguiesr oy 1.4 m L@L.
SiFme (WpLSH Caremeuwimenr @rL (b Hiewlulesr LITLILIGTEN6US &HT6mIsH.

5 . fAolw yFfsement 1Ngssll LWTUHSHSIUBLD FnenL
2 _meled sTeuLbBESIME. RH6T SO eueneTuISH6st
Spemy 7cme_1b QFmIGHHBH 2wy 24 cm 2 _1b JpGLd.
@agmmLmws OFuwiw vweaTuhHSw  euenevuiles
UTLILETEN6US  SHITEwIH.

4.3 Gamengdeit Guwpuylliler wuyliueTey

2_MFLbHSI b3
BeleyHEBHerled STemTLIL(HLD g‘,ﬁu&rwrﬂa&aﬁ BameN AUIAI(LPETETENEL.
R CaTHHIT DLMIHGF FLOLIST OIUD I LHHDGHF FLowme
2 W 2 een @F 2 mewenulet eusnenurliiest LFliLeTeuTesd Camenddles
Guouyiisr ugliuenelN@Gs FwGwer L&A THSHHIMTHBT].

o (HEmenulesT eueneTILFLIIeT LFLIL6eT6)Y =27r x 2r
=4 7 r
SLGLD.

Bamengden Gomuyinier ugliuerey A=4 77
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® Qamengdlest Cmuyliiest urliuemelh@Gd Fowmer eueneTuFLIlesT LFLILeT6 6T
2 mmen BCaTenSHHerT HMHDMHEN6T  6eTeILILI(HLD.

® 2 mEEHHG OCFHFlujom?

BamengHed ammiHemen 2 _6TGem 2 _ewiLm@GH Gumg)
2 _mHemenulsst eulLd GmisG OCeullpn&HsF FLOMHSHILOTES
Geu’ L. AB, CD opdlweupnest ewpeold &L (Lo
ugduwier uglueneureng GCamengHenmsd Geul LUu@L L@Gdullest
Gupuriilesr ugliueTeysH&HE FLOTGLD.

Hewio smrsEBasmengHet eueneniLriilest UFLiLeTey =27rx r
SIMTHCBTENHHE  euemeTILFLILI6T LFLIL6T6) =211 Sp@&Lb.
S oiemrs CamengFHer Gorggs Gmuriiies
UrLiLeN6) =1 + 21
= 3mr?

(@BmG T g SimysECaTangder Hem Gomuyliie
UTLILIET6UT GHLD.)

*  Gamengdear ehHCeuT uGHulergitd Gomurliiest
UTLILISTEUTENS DIH6T 2 (henenenwd OaTeni(h STesILLL6VTLD.

® TS,
@euail(p 2 (Hbseiad BommiuLTgd Guouyiniest ugliuere] wimg)?
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2 _sryeud 8.
14 cm opemyuleen @ Casmensdlet GomuinieT uyliueTeneuds SHTes?
BaTenSH I LM = l4cm
SIGeT CopurlieT ugliueTey = 4n r?
22
=4 x 7>< 14 x 14 cm?

= 2464 cm?

2 _Sryewid 9.
Q@ GamengHent Gopuyluiest Lyliueme 154 M’ D@D, BT DLEDTENUID
HT6NH.

BamengdHesr Gomurliiet UFLiLeTey =4n r?
sruul(heten Bamengdles Gmurlinier uyliueney =154 cm?
4rt ¥ =154
_154x7
22x4

2 gryeww 10.
2 maled smewiliuB mIECamen eugey HLHTFH 1o SHule
Guouylifer ugluene] 462 cm? LGD. DS DYLWOTDUIS HTEMIH.

SmIECHTen eusmemurliiest LTLIL6T6Y =21 r
ol L0 ugduler Gumurinier ugliuene] =nr
Qurss Guouyliier uFliLeTey =37 r?
=462 cm?
3nr? =462
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3 x X rr = 462
2 462x7 ,
T 3x22 M
r? =49 cm?
r =449 cm
r =7cm

2 sryewnd 11.

280 cm menmpd 220 cm sisevpd 2 6tenm Goevellw GFlILg HBHL 196
(POOTE 2 ([HHd 7 CM DLEDTWETEN 61HHMe QT BHTENRIBMET Y,HHE0TLD?
(swrfla@wurg elgyww gouLealsoensy sers Camers.)

M r W 2 LW @ Camengder Gumuylier ugliueney =4 w1’

22
4><7><7><7cm2

280 cm x 220 cm

280x220

4><272><7><7

SHBL1963T LITLILIGT6Y

Gamenmigmeesr 6T651600N58 60 & =

280x220
4 x 22 x 7

=100
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uipd 4.3

1. @ Gameangdar spemy 14 cm op@w. sga1 Cupurlier uFliLeTeneas
HITETH.

2. 7 cm gympueien @@ slewilo AmysCamens et  Gumurlifet
UTLILIGTEN6IH SHT60I5H.

3. a@m Camensder opemy 10 cm op@Hb. ST SHHMIHENETUTET LITLILIETEN6S
HITETH.

4. opuiar opmy 7 cm QuEe D 2 WD Il @@ L RISTH6D
2 616N QFJ 2 _(HEWeN 6Ugel eueneTUTLIeNLS OBTemi(h DHeMLOSBLILIL (HeTern
CamengHer Gmurliniler uFlILeTEN6US HTETIS.

5. @ Carengden Guomuyinleor upliene] 616 cm’ OL@ib. DISHET SLEMTMUIS
HITEWIED.

6. 7cmoymyuleien @f ewysCasmen GQum@mefesr yp Gumuylienu L g
Bxpemeuwimen Glewilulest LFLILETENEUS HTERIS.
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